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NEW QUESTION 1
- (Exam Topic 2)
What is a capability of the NETCONF protocol?

A. allows Python scripts to be executed externally from a network device

B. uses JSON to encode data in its content layer
C. allows XML messages to be exchanged via the SSH protocol
D. exposes a web-based interface

Answer: C
NEW QUESTION 2

- (Exam Topic 2)
Refer to the exhibit.

import reguests

£rom reguests.auth import HITPBasichuth

'R

Teaponae = re Juesty.get |
base url + devices url, headers=headers,

pAramsTguery string params)

ne(f"

i:cspzzst.:ﬂdrl'l

headers = |['Content-Type': ‘application/json

base_url = "https://10.1.2.3°

auth url = "/dna/syscem/api/vl/auth/coken’

devices_url ® "/dna/intent/api/vl/network-device'

token = reguests.post|
base url + auth url, headers=headers,
auth=NTTPBasizAuth (ussrname="admin™, password="Devie

data = token.json()

guery string params = (['platformId': "CH300-40X"}

-1 |
=F T |

A network engineer must manage the network devices. The engineer prepares a Python scripts to authenticate to the Cisco to DNA Center API and request a
device list. The device request fails and returns errors code 401. Which action solves the problem?

A. Update the APl UR
B. which matched the API endpoint for device list.

C. Send the request to another network in case there are reachability Issues.
D. Send the Authentication header In the request with a valid configuration.
E. Update the credentials that are already supplied and retry the request

Answer: D

NEW QUESTION 3
- (Exam Topic 2)
Refer to the exhibit.

sd Localplayback '

Application VGDRM SDE VGDRM SDE VGDRM SDK
Download ContentSession Flayer APl
Manager APl AP]
| | | I
opt Present catalog /}__,I : : :
| [ | [
[b 2.0 GetAssetsListISOM(sourceType=0TT)) ,_|;| | [
t e | .
-3 3.0 GetAssetsCallback{ISOM(asset metadata)) 1 : :
I | f
|:I:|'t . 3.1 Present catalogf() : :
A T [
[:i 1.2 Choose asset for playback() : :
| | [
TJ . . - . . = P . 1 | i
8 CiehteComantsessionJS0Necordld, somcalype=3, SassionType=y piatecionType = 1) o |
| [ | [
' 5.0 CreateContentSessionCallback{)SON{wgStatus, url) ' '
LK r {1 [
[ [ | [
| 6.0 StarPlayback{J1SON{url}) | !
L ]
| | | ]
|£:’ 7.0 PlayerCallback{)SON(wgStatus, playerld)! I
o i i
Ii‘ _ 7.1 StateChanged(JSOM(playerld. playerState=2))
h ¥
|
[
[

What do all the calls shown in the sequence diagram have in common?

A. All the calls are optional.
B. All the calls are asynchronous.
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C. All the calls are synchronous.
D. All the calls depend on the catalog.

Answer: D

NEW QUESTION 4
- (Exam Topic 2)

Get Device Count

Operation Id: getDeviceCount
Description: Returns the count of network devices based on the filter criteria by

management IP address, mac address, hostname and location name

GEIT Y /dna/intent/api/vl/network-device/count

Request Parameters

Responses

Status: 00
The request was successful. The result is contained in the response bodly.

Schema Definition Example Body
response: intege!
version: string

Refer to the exhibit. Drag and drop the code snippets from the bottom onto the blanks in the code to construct a request to find the Cisco DNA Center switch count.
Not all options are used.

curl -L —--reguest LY
- https:///dna/intent/api/vl/network-device/ \
--header ' : application/json' \

--header 'Accept: application/json’

url network count
POST GET Content-Type
A. Mastered
B. Not Mastered
Answer: A
Explanation:
curl -L --reguest _G:ET- - _U N,
— ._ul - - https:///dna/intent/api/vl/network-device/ | count 5

--header ' | Content-Type |: application/json' \

--header 'Accept: application/json’

FJE_ v _-‘ network ‘I ‘ count

oo [or ] [comemeoree]
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NEW QUESTION 5
- (Exam Topic 2)
Which protocol runs over TCP port 23?

A. SSH

B. NETCONF
C. HTTP

D. Telnet

Answer: D

NEW QUESTION 6

- (Exam Topic 2)

A developer has created a new image to use in a Docker build and has added a tag for the image by using the command:
$ docker tag 84fe411926287 local/app:0.4

Which command must be executed next to build the Docker image using the tag?

A. $ docker build -p local/app:0.4
B. $ docker run -t local/app:0.4
C. $ docker run -p local/app:0.4
D. $ docker build -t local/app:0.4

Answer: D

NEW QUESTION 7
- (Exam Topic 2)

Access to the management interface of devices must be restricted by using SSH and HTTPS. Which two ports must be included in the ACLs for the protocols to

work? (Choose two.)

A. 22
B. 23
C. 80
D. 443
E. 880

Answer: AD

NEW QUESTION 8
- (Exam Topic 2)

A company wants to accelerate the adoption of technologies that will simplify its operations. Staff have different skill levels and are looking for a single site to find

easy-to-consume beginner, intermediate, and
advanced multidomain use cases. Which site should be used?

A. DevNet Ecosystem Exchange
B. DevNet Automation Exchange
C. DevNet Creations

D. DevNet Support Forum

Answer: D
NEW QUESTION 9

- (Exam Topic 2)
Refer to the exhibit.

API vl documentation:

Authentication and authorization: Bearer Token
Inventory endpoint: /api/vl/inventory

Method: GET

Response formats: text/html, application/json,
application/html

Token:
dXNIlcm5hbWU6cGFzc3dvemQ=

Api call:
GET /api/vl/inventory HTTP/1.1
Host: example.com

Response:
HTTP/1.1 401 Unauthorized
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An API call is constructed to retrieve the inventory in XML format by using the API. The response to the call is 401 Unauthorized. Which two headers must be
added to the API call? (Choose two.)

- = Pl

Accept: application/ xmd

L

A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Answer: BE

NEW QUESTION 10
- (Exam Topic 2)
Before which process is code review performed when version control is used?

A. Branching code
B. Merge of code

C. Checkout of code
D. Committing code

Answer: D

NEW QUESTION 10
- (Exam Topic 2)
What is the purpose of a MAC address on a network device?

A. unique network address that identifies the network interface of a device
B. unigue network interlace address that is provided by the DHCP server
C. unigue hardware address that identifies the network interface of a device
D. unique hardware interface address that is provided by the central switch

Answer: C

NEW QUESTION 12
- (Exam Topic 2)
What is a benefit of test-driven development?

A. early customer involvement

B. increased code quality

C. faster releases that have minimal features
D. strict adherence to product requirements

Answer: D

NEW QUESTION 15
- (Exam Topic 2)
What is the difference between YAML and JSON data structure?

A. YAML uses spaces; JSON uses parentheses
B. YAML uses indentation; JSON uses brackets and braces
C. YAML uses brackets and braces; JSON uses indentation
D. YAML uses parentheses; JSON uses spaces

Answer: A

NEW QUESTION 20

- (Exam Topic 2)

A developer creates a web application that receives a username and password and uses them to sync the credentials to other services through HTTPS. API keys
to services are part of the configuration files of the application, but the credentials to the database that stores the synchronization logs are obtained through an
external vault service. What is the security issue in this scenario?
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A. Communication between the application and the services is not encrypted.

B. The database credentials should be stored in the configuration files so that they are secured on the same server.
C. The API keys are stored in the configuration files but should be stored in the vault service.

D. The synchronization logs should be encrypted and not stored in a relational database.

Answer: A

NEW QUESTION 21
- (Exam Topic 2)
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Refer to the exhibit. What does the load balancer enable in the network topology?

A. hosted application to access Internet services

B. external requests to be routed to the application servers
C. workstations to access the Internet

D. application to access the database server

Answer: C

NEW QUESTION 26
- (Exam Topic 2)

A developer is creating a script to interact with a REST API service which requires basic authentication. The credentials are "devnet:391665405" and the Base64
encoding of the credentials is "GV2bmVOdXNIcjpDaXNj=". Which payload and header combination must be used for authentication?
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paylocad = {
L1 " FYpre. - ¥ - LR = - J— = Y L, Ty~ 7 — = LT W
Authorization’ : 'Basic GVZbmVOdXNlcipDaXNj=',
‘Content-Type' : ‘application/json’

4

!
headers= {}
B
payload = {]
headers= {
*‘Authorization’ : ‘Basic GVZbmVO0dXNlcipDaxXNji=',
‘Content-Type’ : ‘application/json’
!
payload = {
*Authorization’ : ‘Bearer GVZbmVOdXNlcipDaXNij=',
‘*Content-Type’ : ‘application/json’
!
headers= {)
0
payload = {}
headers= {
‘Authorization’ : ‘Bearer GVZ2bmVO0dXNlcijpDaXNij=',
‘Content-Type’ : ‘application/json’
!
A. Option A
B. Option B
C. Option C
D. Option D
Answer: B
Explanation:

https://developer.cisco.com/docs/epnm/#!how-to-authenticate/authorization

NEW QUESTION 31
- (Exam Topic 2)
What are two benefits of model-driven programmability?

A. model-driven APIs for abstraction and simplification

B. single choice of transport, protocol, and encoding

C. model-based, structured, and human friendly

D. easier to design, deploy, and manage APIs

E. models decoupled from transport, protocol, and encoding

Answer: DE

NEW QUESTION 33
- (Exam Topic 2)
What are two use cause where webhooks are effective? (Choose two.)

A. Close a session with a web server after a specific amount of time.

B. Filter out information from a response to an API call

C. Change the response format or content type of an API call.

D. Inform a previously defined chat channel after a deployment fate.

E. Send an email to a customer of an online store after payment is complete

Answer: DE

NEW QUESTION 38
- (Exam Topic 2)
In the test-driven development model, what is changed after a test fails?

A. test

B. schedule

C. project requirements
D. code

Answer: D
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Explanation:
Reference:

https://www.guru99.com/test-driven-development.html#:~:text=In%20simple%20terms%2C%20test%20cases,c

NEW QUESTION 43
- (Exam Topic 2)

Drag and drop the code from the bottom onto the box where the code is missing in the Bash script to complete the missing assignment.

#!/bin/bash

='date +%b—%d-%y’
=/home/usr/path/backup-$SBACKUPTIME.tar.gz
=/home /usr/path/data folder

tar —-cpzf SDESTINATION S$SOURCEFOLDER

BACKUPTIME

A. Mastered
B. Not Mastered

Answer: A

Explanation:

SDURCEFDLDER‘ |DESTINHTIDN

#!/bin/bash

BACKUPTIME

DESTINATION

SOURCEFOLDER

=‘date +%b-%d-%y’
=/home /usr/path/backup-$SBACKUPTIME.tar.gz

=/home/usr/path/data folder

tar —-cpzf SDESTINATION S$SOURCEFOLDER

BACKUPTIME

NEW QUESTION 47
- (Exam Topic 2)
Refer to the exhibit.

SOURCEFDLDER‘ ‘DESTINATION
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Code:
lmport raedquests
url = 'https://en.wikipedia.org/apir/rest vi/page/title/Cisco Systems'
8 = regquests.Session()
def get json(session=None, url="https://example.com")
try: _
1f not session or type(session) 1s not requestsg.sessions.Session
railse Exception("Invalid session type")
r = session.get (url
1f r.status code < 200 ©r r.status code > 3U/:
raise Exception("Status Code not within 2xx and 3xx")
return r.jsonil)
except reguests.exceptions.RequestException as e
raise e ("Request failed")
finally:
session.close ()
if name = " main_ ":
e s - — .
items = get json(session=s, url=url)
payload:
'items' [{'title': '"Cisco Systems', '"page 1d': 51746, 'rev': 930604297,
'taid': '58b40b30-20e7-1llea-ala%-£1850cTcfelS"', '"namespace': 0, "user id’
9450869, 'user_text': 'Dhruvh
'y "timestamp’: "2019-12-13T16:47:522", "comment’': '/* 1984-19%9%5: Origins
and initial growth */', 'tags': [], 'restrictions': [], 'page language’':
'en' 'redirect'": False}]})

print(items['items'] ['page i1d’
B)

print({items.get('i1tems') .get{ "page 1d’
C)

print(items.gec('"2tems') [0] .get ( "DAge 14"
D)

print(icems['1cems’ 'page 14’ eys())
A. Option A
B. Option B
C. Option C
D. Option D
Answer: C

NEW QUESTION 50

- (Exam Topic 2)

A developer creates a script that configured multiple Cisco 10S XE devices in a corporate infrastructure. The internal test environment is unavailable, and no
maintenance window is available to test on a low-priority production environment. Which resource is used to test the code before it is applied to the production
environment?

A. Code Exchange

B. Cisco DevNet Learning Labs
C. Cisco DevNet Sandbox

D. Cisco Support

Answer: C
Explanation:

Reference: https://developer.cisco.com/site/sandbox/

NEW QUESTION 53
- (Exam Topic 2)
How does a synchronous API request differ from an asynchronous API request?
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A. clients receive responses with a task id for further processing

B. clients subscribe to a webhook for operation results
C. clients are able to access the results immediately

D. clients poll for the status of the execution of operations

Answer: C

NEW QUESTION 54
- (Exam Topic 2)
Refer to the exhibit.

List Messages
sttachirents if present

Long result sets will be wplit Into pages

fwi/mEasaged

Chpary Parametens

roonld

La a2 % L] ]

LSl messiages i & room, by 1D

parentid

Lt messsges with a parent, by ID

Liats oll messages in a room. Each message will mclude content

The sl 30MS e MELAIgEs N descending ofder by creaton date

M)/ webexapis. com/v) [messages Proomid =Y 21rY
2 GFyarovl IVEL 1JPTOOVYmJZWIxYWOINDNmMS
2V UL TN Dt ZJED Ymiw Y rRAM TUOE pareniid Y 21z
Y 29reGFyarovlL AVILD T FUIYNBROUvZWM 1 ZTizZ AN 2
ROMSOxMWUSLTg2NTgtZTheY tNIODZ3:Z mFmEmento
edPeoplesY22Y29rcGFyazovi VL 1BFT1BMRSByN
DimMNzREOS 1Y hhLTOzY 2E1ODE2 Y04 N2LZDIOMGE N
TMEbaiom=2016-04-21T19:01:55. 96680l orohtes
sanosY Y 29re GRFyazovl VL0 T FUTNBROUVO T JKY]
NZTAINDNZCOxMWUZLThAZ Tt ZG0O TYJNEZmM TNV

kdmax=100

A developer needs to automatically retrieve all of the messages of a Webex room with the roomld of
HY212Y292cGFyazovL3Vz397748444YjUSNjJAINTkOZIJOXMWVhLTKOM]". Using the Webex APl documentation shown, drag and drop the code snippets from
below onto the code to complete the Python script to list all of the messages in the room. Not all options are used.

Bs - o 1 &
ane cone =2 "KDA - LEELES 1 dafass
- T imanladnt = ATLY i
rl “https reCexa B.C |
A - Al
oacdezrs E
maT 3 ATl Beaze - ]
rem . eguests.ceguens ("GET L} ta
- | - -8 | - - - - - L
*--- ) ' |
peszazesr | |
A. Mastered

B. Not Mastered
Answer: A

Explanation:

Graphical user interface Description automatically generated with medium confidence

NEW QUESTION 58
- (Exam Topic 2)

A local Docker alpine image has been created with an image ID of a391665405fe and tagged as “latest”. Which command creates a running container based on
the tagged image, with the container port 8080 bound to port 80 on the host?

A. docker build -p 8080:80 alpine:latest
B. docker exec -p 8080:80 alpine:latest
C. docker start -p 8080:80 alpine:latest
D. docker run -p 8080:80 alpine:latest
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Answer: D

Explanation:
https://docs.docker.com/get-started/02_our_app/

NEW QUESTION 62
- (Exam Topic 2)
Which platform is used to programmatically create a space and invite users for collaboration?

A. Cisco Intersight
B. Cisco Finesse
C. Cisco Webex
D. Cisco UCM

Answer: C

NEW QUESTION 64
- (Exam Topic 2)
Where is an IP packet routed if the packet does not match any routes in the routing table?

A. firewall

B. load balancer
C. central switch
D. default gateway

Answer: D
NEW QUESTION 68

- (Exam Topic 2)
Refer to the exhibit.

Returns the wireless lan controller info with given device ID:

“response”: ({
“adminEnabledPorts”: [ 0 ],
“apGroupName”: “string”,
“deviceId”: “string”,
“ethMacAddress”: “string”,
“flexGroupName” : “string",
'“idﬂ'; \lstring-ﬂ',
“instanceTenantId”: “string”,
“instanceUuid”: “string”,
“lagModeEnabled”: true,
“netconfEnabled”: true,
“wirelessLicenseInfo”: “ADVANTAGE”,
“wirelessPackageInstalled”: true

I

“version”: “string”

Drag and drop the code from the bottom onto the blanks in the code to construct a cURL command using the Cisco DNA Center API. which will provide the details

of a WLAN controller with Id af397748444. Not at options are used.

Answer Area

curl =L =--reguest GET )\

-==url https://dna/intent/api/vl/ ! | f|

--header “Content-Type: application/json’ \

--header “Accept:application/json’

|netwnrk—de?ice| i id l [ wireless |

| wireless-info | ‘ controllexr ] [ details

A. Mastered
B. Not Mastered

Answer: A
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Explanation:
Diagram Description automatically generated

NEW QUESTION 72
- (Exam Topic 2)
Why is refactoring done during test-driven development?

A. to enable larger objects and longer methods

B. to improve maintainability and readability

C. to ensure that the previous uses of the objects are explained
D. to ensure the duplication of essential code

Answer: B

NEW QUESTION 76

- (Exam Topic 2)

An engineer must configure Cisco Nexus devices and wants to automate this workflow. The engineer enables the Cisco NX-OS REST API to configure the devices
by using an Ansible playbook. Before running the code,

which resource must be used to verify that the code works correctly?

A. Cisco NX-OS SDK

B. Cisco Learning Labs
C. Cisco Code Exchange
D. Cisco Modeling Labs

Answer: A

NEW QUESTION 78
- (Exam Topic 2)
Refer to the exhibit.

¢ @ http://example.com/index.php?user= <script>alert(l want to pass the DevNet Associate Exam.)</script>

This is not a secure web page. - )
This page says

| want to pass the DevNet Associate Exam,

OWASP threat does this example demonstrate?

A. Broken access control
B. SQL injection

C. Man-in-the-middle

D. Cross-site-scripting

Answer: D

NEW QUESTION 82
- (Exam Topic 2)
What is a benefit of model-driven programmability?

A. It addresses the static architecture of traditional networks being decentralized and complex.

B. By modeling data, it ensures that vast quantities of data are usable for monitoring.

C. It provides a programmatic and standards-based way of writing configurations to any network device.

D. It simplifies management and operations by decoupling the networking hardware from its control mechanism.

Answer: D

NEW QUESTION 84

- (Exam Topic 2)

What is a requirement when authenticating a RESTCONF API session with a router that runs Cisco 10S XE Software?
A. No authentication is required.

B. OAuth must be used.

C. Basic authentication must be used.

D. A token must be retrieved and the associated string must be embedded in the X-Auth-Token header.

Answer: C

Explanation:

https://www.cisco.com/c/en/us/td/docs/routers/csr1000/software/restapi/restapi/RESTAPIclient.html

NEW QUESTION 88
- (Exam Topic 2)
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Refer to the exhibit.

Device B

Device A, Layer 2

User

A. Device B
B. Device C
C. Device D
D. Device E

Answer: D

NEW QUESTION 91
- (Exam Topic 2)

Internet

Server 1
IP Address 10.10.10.11
Subnet mask 255.255.255.0

Which device limits traffic between server 1 and server 2?

Device D

Device E, Layer 2

IP Address 10.10.20.21
Subnet mask 255.255.255.0

A developer is working on a feature for a new application. The changes in the existing branch named ‘feat00304' must be integrated into a single commit with the

current working primary branch named 'prodapp411926287'. Which git command must be used?

A. git rebase --merge feat00304

B. git merge --squash feat00304
C. git push --rebase feat00304

D. git checkout --squash feat00304

Answer: B

NEW QUESTION 93
- (Exam Topic 2)
Refer to the exhibit.

1l - hosts: servers
2 Lasks:
3
4 - name: taskl
5 apt:
6 name: apache?
7 state: absent
8
- - name: task?
10 apt:
i %1 K name: nginx
12 state: present
13
14 — name: task3
15 apt:
16 name: "*"
I iy state: latest

A developer must check packages on web load balancers that use nginx packages. The developer updates the servers as required in Ansible inventory and
prepares an Ansible playbook to automate this workflow on related servers. Which process is being automated by the Ansible playbook?
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A. verifying that nginx is installed only if apache2 is unavailable on the system, and then updating all the other packages

B. verifying, without installing, that apache2 is unavailable and that nginx is installed, and then updating the repository to the latest version
C. uninstalling the apache2 server, installing the nginx server, and then updating all the packages to the latest version

D. installing nginx, uninstalling apache2, and then verifying that the package repository is at the latestversion

Answer: B

NEW QUESTION 94
- (Exam Topic 2)
What is a difference between a synchronous APl and an asynchronous API?

A. An asynchronous API can make offline calls while synchronous APIs do not have this capability.

B. Synchronous API calls are returned immediately while asynchronous calls do not guarantee an immediate response.

C. Synchronous API calls require an authentication header to be sent while asynchronous calls do not require authentication.
D. An asynchronous API can make a larger number of calls in a specified time period than a synchronous API.

Answer: B

Explanation:
Reference:
https://stackoverflow.com/questions/36213948/what-is-the-difference-between-asynchronous-calls-and-callback

NEW QUESTION 95

- (Exam Topic 2)

Several teams at a company are developing a new CRM solution to track customer interactions with a goal of improving customer satisfaction and driving higher
revenue. The proposed solution contains these components:

* MySQL database that stores data about customers

« HTML5 and JavaScript Ul that runs on Apache

* REST API written in Python

What are two advantages of applying the MVC design pattern to the development of the solution? (Choose two.)

A. to enable multiple views of the same data to be presented to different groups of users

B. to provide separation between the view and the model by ensuring that all logic is separated out into the controller
C. to ensure data consistency, which requires that changes to the view are also made to the model

D. to ensure that only one instance of the data model can be created

E. to provide only a single view of the data to ensure consistency

Answer: BD

NEW QUESTION 98
- (Exam Topic 2)
Refer to the exhibit.

: User | l : AP1 Client : Meraki Dashboard | [ : Meraki AP |

Enable Meraki AP]

Generate APl key

GetAllNetworks .

" farganizations

| loop [orgld] /organizations/{orgld}/network

-1
|

| B

The Cisco Meraki APl manages two organizations. In each organization, two independent networks are defined. How many calls to the
/organizations/(orgid)networks endpoint will be run parallel by the GetAlINetwork function of the API client?

Ow>
AN R

Answer: C

NEW QUESTION 99
- (Exam Topic 2)
How are load balancers used in modern application deployment?

A. Allow traffic to continue as new compute units are brought up and old compute units are taken down.
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B. Allow http and https traffic to continue as old compute units are discontinued before new units are brought up.
C. Turn off traffic and take down compute units, then update and bring the compute units back up.
D. Bring up new compute units, test the compute units, and switch the traffic from old units to new units.

Answer: D
NEW QUESTION 101

- (Exam Topic 2)
Refer to the exhibit.

>>> response_data = requests.get (base_url + request_url, cookies=cookies)
Traceback (most recent call last):
File “<stdin>"”, line 1, in <module>
NameError: name ‘requests’ is not defined
b e

A Python code has been written to query a device. The executed code results in the error shown. Which action resolves the problem?

A. import json

B. requests("GET", base_url + request_url, cookles=cookies)
C. pip install requests

D. import requests

Answer: D

NEW QUESTION 102
- (Exam Topic 2)
Which implementation creates a group of devices on one or more LANSs that are configured to communicate as if they were attached to the same wire?

A. WLAN
B. VLAN
C. IPsec
D. HSRP

Answer: B

NEW QUESTION 105
- (Exam Topic 2)
Which tool allows changes to the configuration management toolset to be tested?

A. Cisco VIRL
B. NAPALM
C. Ansible

D. pyATS

Answer: D

NEW QUESTION 107
- (Exam Topic 2)
What does a load balancer distribute in a network environment?

A. outgoing connections to the network

B. incoming traffic across multiple servers

C. different TCP connections to the routers

D. traffic in the network by leveraging the switch architecture

Answer: B

NEW QUESTION 109

- (Exam Topic 2)

A developer created a new secure API and is testing the functionality locally. The API was added to a container for further testing, and other team members and
applications need to connect to the APIl. Which command exposes the API in the container as port 8443 and allows connections external to the host?

A. docker run -p 127.0.0.1:80:8443/tcp myapiservice
B. docker run -p 0.0.0.0:443:8443/tcp myapiservice
C. docker run -p 0.0.0.0:8443:443/tcp myapiservice
D. docker run -p 127.0.0.1:443:8443/tcp myapiservice

Answer: C

NEW QUESTION 112

- (Exam Topic 2)

A file that already exists in a local repository is updated. Which command must be executed to ensure that the changes in the file are included in the next Git

commit?

A. git update
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B. git merge
C. gitadd
D. git rebase

Answer: A

NEW QUESTION 116
- (Exam Topic 2)
How does a developer create and switch to a new branch called "my-bug-fix" to develop a product fix?

A. git checkout -b my-bug-fix
B. git branch -b my-bug-fix
C. git branch my-bug-fix

D. git checkout my-bug-fix

Answer: A
Explanation:

https://www.shellhacks.com/git-create-new-branch-and-checkout/

NEW QUESTION 117
- (Exam Topic 2)

Which HTTP response code should be returned when the request is completed, but there is no content to send for the request?

A. A.-100B.204C.302D.402
Answer: B
Explanation:

Reference: https://developer.mozilla.org/en-US/docs/Web/HTTP/Status#successful_responses

NEW QUESTION 118
- (Exam Topic 1)
Refer to the exhibit.

For CLI commands that support XML, the clid() method returns JSON cutput. An exception is thrown when XML is not
used. Executes CLI commands. Takes CLI command string and returns show command output in a JSON form.

[}

Note: The “ciid” API can be useful when searching the ouvtput of show commands using SSON tools as shown in the example,

PYTHON

Arguments:

* cmd: Single CLI command or a batch of CLI commands. Delimeter for multiple CLI commands
is a space followed by a semicolon. Configuration commands must be in a fully qualified form.

Returns:

 string: JSON-formatted output of show commands.
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>>> from cli import *
>>> import json

>>>
>>> cli(‘configure terminal ; interface loopback 5 ; no shut’)

!

>>> intflist=json.loads (clid('show interface brief’))
>>> 1i=0
>>> while i < len (intflist['TABLE interface’]['ROW interface’]):
.. intf=intflist['TABLE interface’]['ROW_interface’] [i]
" i=i+1
v e 1f intf[‘state’] == ‘up’:
print intf[ ‘interface’]

The python interpreter and the Cisco python SDK are available by default in the Cisco NX-OS software. The SDK documentation shows how the cild() API can be

used when working with working with JSON and XML. What are two effect of running the script? (Choose two.)

. configure interlace loopback 5

. issue shutdown on interface loopback 5

. show only the interfaces In the up status

. show only the interfaces in admin shut status
. show details for the TABLE interface

mooO P

Answer: AC
Explanation:

Reference:
https://www.cisco.com/c/en/us/td/docs/switches/datacenter/nexus9000/sw/7-x/programmability/guide/b_Cisco__

NEW QUESTION 123
- (Exam Topic 1)
Which two statements describe the traits of an asynchronous API call? (Choose two.)

A. The order in which API calls return can be guaranteed

B. A call to an API does not block the code, but rather it allows application processing to continue
C. The end user can experience latency or performance lag while waiting for the API call to return
D. Code execution blocks or waits for the call to an API to return.

E. A callback function typically is used to process the response from an API call

Answer: BE

NEW QUESTION 124
- (Exam Topic 1)
What are two advantages of version control software? (Choose two.)

A. It supports tracking and comparison of changes in binary formate files.

B. It allows old versions of packaged applications to be hosted on the Internet
C. It provides wiki collaboration software for documentation.

D. It supports comparisons between revisions of source code files.

E. It allows new team members to access the current code and history.

Answer: DE

NEW QUESTION 129
- (Exam Topic 1)
Refer to the exhibit.
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class ucsmsdk .ucshandle.UcsHandlelip, username, password, port=None, secure=None, proxy=None)

Bases: ucsmsdk.ucssession.UcsSession [source]
UcsHandle class is the user interface point for any Ucs related communication.

Parameters: ® jp (str)—The IP or Hostname of the UCS Server

username (str) — The username as configured on the UCS Server
password (str) — The password as configured on the UCS Server
port (int or None) — The port number to be used during connection
secure (bool or None) = True for secure connection, otherwise False
proxy (str) — The proxy object to be used to connect

Given the APl documentation for the UCS SDK python class, UcsHandle, which code snippet creates a handle instance?

di % T

i &N 174 4 5"

3 —

o) fusr/bin/env Py thaond

import ucsmsdk . ucshandle . lcasHamndl @
hardle = UcsHarwlliedl "16.] 2. 254" "achman” e s S ol
port=443, t1ecure=])
#1 fusr/ bhiynfeny | v hoanld
- % il T as W0 ar € b s Harie] L e
from ucs=midk icshan
1 & | ¥ 1.1 T VLT i Tl
handld s Boean s h. resdid3. aAwcu
jrias SwWo il = o o 5 .
ot Susr 1l ey T4 4 LHLY =
e r t 4 e
¥ r* S =T (1 ! 3wl )
T il .
1 = L) ip-wile 1 1 174
mamlle = s
ar t= 'l""- -
A. Option A
B. Option B
C. Option C
D. Option D
Answer: C

NEW QUESTION 131
- (Exam Topic 1)
Which device is a system that monitors and controls incoming and outgoing network traffic based on predetermined security rules?

A. Switch

B. Router

C. Firewall

D. Load balancer

Answer: C
NEW QUESTION 133

- (Exam Topic 1)
Refer to the exhibit.
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1 ——

2 - hosts: {{ router }}

3 gather facts: true

4 connection: local

5

E Vv tasks:

S - ios command

i Y commands :

9 - show run

10 provider: “{{ router credentials }}”
11 register: config

12

13 - copy:

14 content: “{{ config.stdout[0] }}”
15 dest: “etc/ansible/configs/command {{ router hostname }}.txt
16 -

What is the effect of this Ansible playbook on an IOS router?

A. A new running configuration is pushed to the IOS router.

B. The current running configuration of the 10S router is backed up.

C. The start-up configuration of the 10S router is copied to a local folder.
D. A new start-up configuration is copied to the 10S router.

Answer: B

NEW QUESTION 135
- (Exam Topic 1)
Refer to the exhibit.

An administrator attempts to perform a GET using the Cisco IOS XE RESTOCNF API to return the hostname of a device. The sequence diagram illustrated the
HTTP message observed. Which change to the API request resolves the issue?

A. Add Content-Type HTTP header with 'application/yang-data+json’ using —H ‘Content-Type: application/yang-data+json’.
B. Use -u cisco: cisco instead of -u ‘cisco: cisco'.

C. Change the request method from -X "GET” to- X' POST".

D. Remove the -H 'Accept: application/yang-data”/son’ HTTP header because it is not required.

Answer: B

NEW QUESTION 140

- (Exam Topic 1)

A developer needs to prepare the file README.md in the working tree for the next commit operation using Git. Which command needs to be used to accomplish
this?

A. git add README.md staging
B. git -a README.md

C. git add README.md

D. git commit README.md

Answer: C
Explanation:

Reference: https://teamtreehouse.com/community/committing-the-readmemd-file-to-repository

NEW QUESTION 144
- (Exam Topic 1)
Refer to the exhibit.
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"WPE'": "fruit"‘,
“items”: [
{

“color”:"”green”,
“items™: [
Fl’kiwijj
“grape”

“color”: “red”,

“items”: [
“strawberry”,
Happleu

]
}s

{
"'type”: "Uegs”,
ﬁitemsu ‘ [

{

“items”: [
“lettuce”

“color”: “red”,
“items”: [
llfpepper.j.l

Iicﬂlnr‘.‘!: "BI"EEI’I”J

A REST API retune this JSON output for a GET HTTP request, Which has assigned to a variable called “vegetables” Using python, which output is the result of

this command?

print ter (lambda | L)

A. Lettuce

B. Kiwi

C. ['kiwi’, ‘grape’]

D. {‘color’: ‘green’, ‘items’: ['kiwi’, ‘grape’]

Answer: B

NEW QUESTION 149
- (Exam Topic 1)

When using the Bash shell, how it the output of the devnet command saved to a tile named “output.txt"?

A. devnet & output.txt
B. devnet > output.txt
C. devnet < output.txt
D. devnet | output.txt
Answer: B

Explanation:
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Reference: https://askubuntu.com/questions/420981/how-do-i-save-terminal-output-to-a-file

NEW QUESTION 152
- (Exam Topic 1)
Which service provides a directory lookup for IP addresses and host names?

A. DNS
B. DHCP
C. SNMP
D. NAT

Answer: A

NEW QUESTION 154
- (Exam Topic 1)
Fill in the blanks to complete the python script to retrieve a list of network devices using the Cisco DNA center API.

A. Mastered
B. Not Mastered

Answer: A

Explanation:
Solution as below.

pZiDIH__ngxmrmijFFWmEﬁH Mt X
fésponse = requests request( EEL—T_-‘—- — j
headers - "IEE 4 = . ur
ks = | data = payload
print{response text encode( uts ) D

NEW QUESTION 157
- (Exam Topic 1)
Refer to the exhibit.
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List the clients that have used this network in the timespan
HTTP REQUEST

GET /networks/ {networkId)}/clients

PARAMETERS

t0
The beginning of the timespan for the data. The maximum lookback period is 31 days from today.

timespan

The timespan for which the information will be fetched. If specifying timespan, do not specify parameter t0. The
value must be in seconds and be less than or equal to 31 days. The default is 1 day.

perPage

The number of entries per page returned. Acceptable range is 3 — 1000, Default is 10.

startingAfter

A token used by the server to indicate the start of the page. Often this is a timestamp or an ID but it is not limited
to those. This parameter should not be defined by client applications. The link for the first, last, prev, or next page
in the HTTP Link header should define it.

endingBefore

A token used by the server to indicate the end of the page. Often this is a timestamp or an ID but it is not limited
to those. This parameter should not be defined by client applications. The link for the first, last, prev, or next page
in the HTTP Link header should define it.

base url = “https://api.meraki.com/api/v0”
network id = “L 12345678910”
api_key = “1098hadpfsiapsfB8ahf8ohp”
requests.<item 1> (
<item 2> + “/<item 3>/” + <item 4>, “/<item 5>”",
headers = {
“X-Cisco-Meraki-API-Key”: <item 6> ,
“Content-Type”: “<item 7>”

} .
<item 8>={“"<item 9>":<item 10>})

Drag and drop the code from the left code from the left onto the item number on the right to complete the Meraki code to obtain a list of client which have used this
network.

params <item 1>
networks <item 2>
timespan <item 3>
get <item 4>
432000 <item 5>
base_url <item 6>
application/json <item 7>
network_id <item 8>
clients <item 9>
api_key <item 10>
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A. Mastered
B. Not Mastered

Answer: A
Explanation:

1-d,2-f,3-b,4-h,5-i,6-j,7-9,8-a,9-c,10-e

NEW QUESTION 158
- (Exam Topic 1)
Refer to the exhibit.

§ diff -ub fish.py cat.py

--- fish.py 2020-01-02 09:41:02.840000000 +0100
+++ cat.py 2020-01-02 09:41:06.8859999800 +0100
ge@ -160,11 +160,12 @8

Esingle request timeout.setter
def single request timeout(self, wvalue):
wanThe timeout (seconds) for a single HTTP REST API request, 'V
check type(value, int, optional=True)
- assert value is None or value > 0
+ if walue is not None and wvalue <= 0:
+ raise ValueError (“single request timeout must be positive integer”)
self. single request_ timeout = value

fproperty
def wait on rate limit(self)
wwhAutomatic rate-limit handling.

The output of a unified diff when comparing two versions of a python script is shown. Which two “single_request _timeout ()"

A file: cat.py
160
161
162 def (self, value):
163 “““The timeout (seconds) for a single HTTP REST API request.””"
164 check_type(value, int, optional=True)
165 assert value is None or value > @
166 if value is not None and value <= @:
167 raise ValueError(“single_request_timeout must be positive integer")
168 self._single_request_timeout = value
169
B.
file: Ffish.py
160
161
162 def (self, value):
163 "““The timeout (seconds) for a single HTTP REST API request.”"”
164 check_type(value, int, optional=True)
165 assert value is None or value > @
166 self._single_request_timeout = value
167
c. file: cat.py
160
l6l
162 def (self, value):
163 “““The timeout (seconds) for a single HTTP REST API request."”"”
164 check_type(value, int, optional=True)
165 if value is not None and value <= @:
166 raise ValueError(“single_request_timeout must be positive integer”)
167 self._single_request_timeout = value
168
169
D.
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file: fish.py
180
161
162 def (self, value):
163 “““The timeout (seconds) for a single HTTP REST API request."””
164 check_type(value, int, optional=True)
165 self. single request_timeout = value
E.
file: cat.py
172
173
174 def (self, value):
175 “““The timeout (seconds) for a single HTTP REST API request.™"”
176 check_type(value, int, optional=True)
177 if value is not None and value <= 0:
178 raise ValueError(“single request_timeout must be positive integer”)
179 self. single_request_timeout = value
180
F. Option A
G. Option B
H. Option C
I. Option D
J. Option E
Answer: BC

NEW QUESTION 159
- (Exam Topic 1)
What are two security benefits of a Docker-based application?

A. easier to patch because Docker containers include only dependencies that the application requires

B. prevents information leakage that can occur when unhandled exceptions are returned in HTTP responses
C. allows for separation of application that traditionally run in the same host

D. natively secures access to secrets that are used by the running application

E. guarantees container images are secured and free of vulnerabilities

Answer: AC

NEW QUESTION 162
- (Exam Topic 1)
Refer to the exhibit.

docker run -p 3000:5000 £877cbf2f£33

A process on the host wants to access the service running inside this Docker container. Which port is used to make a connection?

A. only outbound connections between 3000 and 5000 are possible
B. port 3000

C. any port between 3000 and 5000

D. port 5000

Answer: B
NEW QUESTION 166

- (Exam Topic 1)
Refer to the exhibit.

def process devices (dnac, token):
url = “https://{}/api/vl/network-device”.format (dnac[ ‘host’])
headers[“x-auth-token”] = token
response = requests.get(url, headers=headers, verify=False)
data = response.json()
for item in datal[‘response’]:
print (item[“*hostname”] ,” ", item[“managementIpAddress”])

What is the function of the python script?
A. Count and print the total number of available devices.

B. Iterate over a list of network devices and write all device names and management IP addresses to an output file.
C. lterate over a list of network devices and write all device type and associated management IP address.
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D. For each device that is returned, display the device and, for each device, print the device name and management IP address.
E. Loop through the returned list of network devices and, for each device, print the device name management IP address.

Answer: E

NEW QUESTION 171
- (Exam Topic 1)
Refer to Exhibit.

<books>

<science>
<biology>10.00</biology>
<geology>9.00</geology>
<chemistry>8.00</chemistry>

</science>

<math>
<calculus>20.00</calculus>
<algebra>12.00</algebra>

</math>

</books>
Which JSON is equivalent to the XML-encoded data.

A)
{
“books”: {

“Wscience”: ({
“biology”: “10.007,
“geulng'y” : “9.007,
“chemistry”: “8.00”

},

“mathﬂ . {

“ecalculus”: “20.007,
“algebra”: “12.00”

}
}
}
B)
[
“books”: ({

“science”: {
“biology”: “10.007,
“geulng'y" : 29,007,
“chemistry”: “8.00”

by

“math’ : {
wecalculus”: “20.007,
“algebra”: “12.00”

}

}
I |
©)
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{
“books”: [

“science”, {
“biology”: “10.007,
“geology”: “9.007,
“chemistry”: “8.00”

} s

t\mthr.f ’ {

“calculus”: “20.007,
“algebra”: “12.00”

“books”: [

“science’”: {
“biology”: “10.007,
\".g-eclngyﬂ . “9 1 00 rr "
“chemistry”: “8.00”

},

“Ymath’ : {

“calculus”: “20.007,
“algebra”: “12.00”

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 174
- (Exam Topic 1)

How does requesting a synchronous API operation differ from requesting an asynchronous API operation?

A. clients poll for the status of the execution of operations

B. clients subscribe to a webhook for operation results

C. clients can access the results immediately

D. clients receive responses with a task id for further processing

Answer: C

NEW QUESTION 177
- (Exam Topic 1)
Which two statements about JISON and XML are true? (Choose two.)

A. JSON obijects are collection of key value pair.

B. The syntax of JSON contains tags, elements, and attributes.
C. JSON arrays are an unordered set of key value pairs.

D. The syntax of XML contains tags, elements, and attributes.
E. XML objects are collections of key-value pairs.

Answer: AD

NEW QUESTION 181
- (Exam Topic 1)
Which two items are Cisco DevNet resources? (Choose two.)

A. TAC support

B. Bitbucket

C. Sandbox

D. Software research
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E. APl Documentation
Answer: CE

Explanation:
Reference: https://developer.cisco.com/

NEW QUESTION 182
- (Exam Topic 1)
Refer to the exhibit.

A. Mastered
B. Not Mastered

Answer: A

Explanation:
L] |l it
1 1 ll'i

weprrif =il

NEW QUESTION 187
- (Exam Topic 1)
Which two statement describe the role of an artifact repository in a CI/CD pipeline? (Choose two.)

A. An artifact repository allows to compare and merge changes in the source code of files involved in a build process.
B. An artifact repository is needed only for CI/CD pipeline executed on a public cloud infrastructure.

C. An artifact repository provides traceability, search, and management of binary files.

D. An artifact repository is needed only for managing open source software.

E. An artifact repository stores files needed and generated during the build process.

Answer: CE

NEW QUESTION 192
- (Exam Topic 1)
Drag and drop the network automation interfaces from the left onto the transport protocols that they support on the right. Not all options are used.
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SSH gRPC
HTTP
NETCONF
HTTP/2
HTTPS
RESTCONF
A. Mastered
B. Not Mastered
Answer: A
Explanation:
SSH gRPC
HTTF‘)'Z
HTTP
NETCONF
HTTP/2
SSH
HTTPS
RESTCOME
HTTPS

NEW QUESTION 196
- (Exam Topic 1)
In DNS, which record specifies an alias that refers to another name that ultimately resolves to an IP address?

A. AAA

B. SOA
C.NS

D. CNAME

Answer: D

Explanation:
Reference: https://ns1.com/resources/dns-types-records-servers-and-queries

NEW QUESTION 201
- (Exam Topic 1)
Which network device monitors incoming and outgoing traffic and decides whether to allow or block specific traffic based on a defined set of rules?

A. switch
B. load balancer
C. reverse proxy
D. firewall

Answer: D

NEW QUESTION 202
- (Exam Topic 1)
Which two statements are true about Cisco UCS manager, Cisco Intersight APIs? (Choose two.)

A. Cisco Intersight API interactions can be encoded in XML or JSON and require an APIs key in the HTTP header for authentication.

B. USC Director API interactions can be XML- or JSON-encoded and require an APLs key in the HTTP header for authentication.

C. UCS manager APl interactions are XML-encoded and require a cookie in the method for authentication.

D. Cisco Intersight uses XML to encoded API interactions and requires an API key pair for authentication.

E. UCS manager uses JSON to encode API interactions and utilizes Base64-encoded credentials in the HTTP header for authentication.

Answer: BC
Explanation:

Reference:
https://www.cisco.com/c/en/us/td/docs/unified_computing/ucs/ucs-director/rest-api-getting-started-guide/6-5/cis
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https://www.cisco.com/c/en/us/td/docs/unified_computing/ucs/sw/api/b_ucs_api_book.pdf

NEW QUESTION 203
- (Exam Topic 1)
Refer to the exhibit.

HTTP REQUEST

POST /organizations/ {organizationId)}/networks

PARAMETERS

name
The name of the new network.

type

The type of the new network. Valid types are wireless, appliance, switch, systemsManager,
camera, cellularGateway, or a space-separated list of those for a combined network.

tags
A space-separated list of tags to be applied to the network.

timeZone
The timezone of the network. For a list of allowed timezones, please see the ‘TZ' column in
the table in this article.

copyFromNetworkld
The ID of the network to copy configuration from. Other provided parameters will override
the copied configuration, except type which must match this network’s type exactly.

disableMyMerakiCom
Disables the local device status pages (my.meraki.com, ap.meraki.com, switch.meraki.com,
wired.meraki.com). Optional (defaults to false).

disableRemoteStatusPage
Disables access to the device status page (http://[device’s LAN IP]). Optional. Can only be
set if disableMyMerakiCom is set to false.

base url = https://api.meraki.com/api/v0
org _id = 123456789
api_key = 1038hadpfsiapsf8ahfiohp
network name = “New Network"”
requests.<item 1> (
<item 2> + “/<item 3>/” + org_id + “/<item 4>",
headers = {
“X-Cisco-Meraki-API-Key”: “<item 5>",
“Content-Type’”: “<item 6>”
} o
<item 7>=json.dumps ({ “name”: <item 8>,
“type”: “wireless switch”
1))

Drag and drop the code from the left onto the item numbers on the right to complete to Meraki python script shown in the exhibit.
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base_url <item 1>
network_name <item 2>
data <item 3>

post <item 4>
application/json <item 5>
networks <item 6>
api_key <item 7>
organizations <item 8>

A. Mastered
B. Not Mastered

Answer: A

Explanation:
1-D,2-A,3-H,4-F,5-G,6-E,7-C,8-B

NEW QUESTION 208
- (Exam Topic 1)
Which status code is used by a REST API to indicate that the submitted payload is incorrect?

A. A.-400B.403C.405D.429
Answer: A

Explanation:
Reference:
https://community.cisco.com/t5/application-centric/apic-rest-api-produces-inconsistent-response/td-p/2758230

NEW QUESTION 209
- (Exam Topic 1)
In python, which expression checks whether the script returns a success status code when the Requests library is used?

A. response.status_code== requests.ok

B. response.status_code== requests.codes.ok
C. response.code== requests.codes.ok

D. response.status_code ! == requests.codes.ok

Answer: B

Explanation:
Reference: https://realpython.com/python-requests/

NEW QUESTION 212
- (Exam Topic 1)
Fill in the blanks to complete the Bash script in which each file in a directory is renamed to Ilts SHA256 hash?

TARGET_DIR=/usr/local/certs

————————

| 1" do

forfin_ | B .
| $f * openssl sha -sha256 -r < 8f | cut -f1 -d' "
done
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A. Mastered
B. Not Mastered

Answer: A

Explanation:
Check below the answer exact.

TARGET_DIR=/usr/local/certs

forfin s $STARGET DIR do
mv B - i S openssl sha -sha256 -r < $f | cut -f1 d'
agone

NEW QUESTION 216
- (Exam Topic 1)
Which statement about authentication a RESTCONF API session with a router that runs Cisco 10S XE software is true?

A. OAuth must be used.

B. A token must be retrieved and the associated string must be embedded in the X-Auth-Token header.
C. Basic authentication must be used.

D. No authentication is required.

Answer: C

NEW QUESTION 217

- (Exam Topic 1)

An application calls a REST API and expects a result set of more than 550 records, but each time the call is made, only 25 are returned. Which feature limits the
amount of data that is returned by the API?

A. pagination

B. payload limit

C. rate limiting

D. service timeouts

Answer: A

NEW QUESTION 222
- (Exam Topic 1)
Which statement describes the benefit of using functions in programming?

A. Functions allow problems to be split into simpler, smaller groups, and reduce code repetition, which makes the code easier to read.
B. Functions ensure that a developer understands the inner logic contained before using them as part of a script or application.

C. Functions create the implementation of secret and encrypted algorithms.

D. Functions store mutable values within a script 01 application.

Answer: A

NEW QUESTION 223

- (Exam Topic 1)

What is the outcome of executing this command?

git clone ssh://john@exmaple.com/path/to/my-project_git

A. Creates a local copy of a repository called “my project”
B. Creates a copy of a branch called “my project”

C. Initiates a new Git repository called “my project”

D. Creates a new branch called “my project”

Answer: A
Explanation:

Reference: https://www.atlassian.com/git/tutorials/setting-up-a-repository/git-clone

NEW QUESTION 225
- (Exam Topic 1)
Drag and drop the function on the left onto the type of plane that handles the function on the right.

Passing Certification Exams Made Easy visit - https://www.surepassexam.com



\i/ Exam Recommend!! Get the Full 200-901 dumps in VCE and PDF From SurePassExam
Ll Sure PaSS https://www.surepassexam.com/200-901-exam-dumps.html (406 New Questions)

handles transit traffic Control Fiane
handles signaling protocols destined to the device
handles hardware forwarding decisions
Management Plane
handles configuration change protocols destined to
the device
handles BGP destined to the device
Data Plane
handles NETCONF destined to the device
A. Mastered
B. Not Mastered
Answer: A
Explanation:
Control Plane

handles transit traffic

handles signaling protocols destined to the device

handles signaling protocols destined to the device
handles BGP destined to the device

handles hardware forwarding decisions
Management Plane

handles configuration change protocols destined to handles configuration cha.ngc_ protocols destined to
the device the device

handles NETCONF destined to the device

handles BGP destined to the device

Data Plane

handles NETCONF destined to the device

handles transit traffic

handles hardware forwarding decisions

NEW QUESTION 226
- (Exam Topic 1)
What are the two purposes for using a VLAN in a network? (Choose two)

A. Itis used to create the routing table.

B. It creates a collection of MAC addresses.
C. It is used for VM network traffic.

D. It segments a network.

E. It creates a broadcast domain.

Answer: DE

NEW QUESTION 227
- (Exam Topic 1)
Which two statements describe the advantages of using a version control system? (Choose two.)

A. It allows for branching and merging so that different tasks are worked on in isolation before they are merged into a feature or master branch.
B. It allows multiple engineers to work against the same code and configuration files and manage differences and conflicts.

C. It provides tooling to automate application builds and infrastructure provisioning.

D. It allows developers to write effective unit tests.

E. It provides a system to track User Stories and allocate to backlogs.

Answer: AB
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NEW QUESTION 231
- (Exam Topic 1)
What is the purpose of a firewall in application deployment?

A. adds TLS support to an application that does not support it natively
B. forwards traffic to a pool of instances of the application

C. provides translation for an application's hostname to its IP address
D. limits traffic to only ports required by the application

Answer: D

NEW QUESTION 232
- (Exam Topic 1)

Which two protocols are used to apply a configuration change on a Cisco I0S XE device? (Choose two)

A. CCX

B. RESTCONF
C. NETCONF
D. HSRP

E. CDP

Answer: BC
NEW QUESTION 235

- (Exam Topic 1)
Refer to the exhibit.

#!/bin/bash
<item 1>=’'date +%b-%d-%y’

<item 2>=/home/usr/path/backup-$BACKUPTIME.tar.gz
<item 3>=/home/usr/path/data folder

tar —cpzf $DESTINATION $SOURCEFOLDER

Drag and drop the variables from the left onto the item numbers on the right that match the missing assignments in the exhibit.

BACKUPTIME <item 1>
SOURCEFOLDER <item 2>
DESTINATION <item 3>

A. Mastered
B. Not Mastered

Answer: A

Explanation:
1-A,2-C,3-B

Reference: https://medium.com/@fotios.floros/linux-backup-script-1722cc9c2bf6 (use tar in order to create your backup file)

NEW QUESTION 239
- (Exam Topic 1)

What is the Git command to delete a local branch named “experiment” without a warning?

A. git branch —n experiment

B. git branch —rm experiment

C. git branch —f experiment

D. git branch —D experiment

Answer: D

Explanation:

Reference: https://www.atlassian.com/git/tutorials/using-branches

NEW QUESTION 243
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- (Exam Topic 1)

Fill in the blanks to complete the statement.

Cisco DNA provide the capability to send an HTTP
network listin format.

A. Mastered
B. Not Mastered

Answer: A
Explanation:

Solution below as

Cisco DNA Center provides the capatildy to
- "

e

EJ'.’-J}FP:.Ii.__--I D

NEW QUESTION 245
- (Exam Topic 1)
Refer to the exhibit.

<books>
<science>
<biology>10.00</bioclogy>
<geology>9.00</geclogy>
<chemistry>8.00</chemistry>
</science>
<math>
<calculus>20.00</calculus>
<algebra>12.00</algebra>
</math>
</books>

Which JSON is equivalent to the XML —encoded data?

B L 4

“books?: {

“science”: |
“piology”: “10.007,
“geology”: “9.007,
“chemistry”: “8.007

},

‘ﬂ.ma th r n {

“calculus”: “20.007,
“algebra”: “12.00"

“books”: [

“Wscience”: {
“biology’”: M10.00%,
“geology™”: “9.007,
“chemistry”: “8.00"

},

wmath® - {

“ealculus”: “20.007,
“algebrar:; V12, 00"
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ol
“hools™: [
“science”: |
“biology”: “10.007,
“geology”: “9.007,
“chemistry~”: “8.00"
b,
wmath™: {
“ealculus”: “20.007,
valgebra”: “12.00"
}
]
}
D {
“books”: [
wscience”, {
“biclogy™: “10.007,
“geology”: “9.007,
“chemistry”: “8.00"
b
'\.imathﬂ ; {
“ealculus”: *20.007,
“algebra”: “12.007
}
1
}
A. Option A
B. Option B
C. Option C
D. Option D
Answer: A

NEW QUESTION 248
- (Exam Topic 1)

Drag and drop the descriptions from the left onto correct application deployment models on the right.

provides a low-latency compute capability close to
the data source

environment where you pay only for the resources
that you consume

offers a self-service, elastic compute environment
from a dedicated set of physical resources

Public Cloud

provides an approach for overflow traffic
to burst out to meet peak demands

Private Cloud

shared compute platform that is offered
over the Internet

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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1-B,2-E3-C,4-D,5-A

NEW QUESTION 250
- (Exam Topic 1)
Fill in the blanks to complete the cURL command that invokes a RESTful API to retrieve a resource in JSON format using OAuth.

A. Mastere

l

d

\ | | u - e—

B. Not Mastered

Answer: A

Explanation:

curl 4 k;fT ] 1 H * !f\‘.{‘“iﬂ : application/ json
-H = P\lllhmlhlhlﬂi 1 Bearer ALCAEF1Z3456™ httpa://localhostfapi/myresac

Reference: https://webcache.googleusercontent.com/search?q=cache:Se6d2trvMsEJ:https://blogs.cisco.com/developer/secu

NEW QUESTION 255
- (Exam Topic 1)
Refer to the exhibit.

bash-3.2§ curl -E “Content-Tvpe: application/dison” -H “Authorization: Bearer
Fj2zzykEa091ic9GK2 jBLLE1EK1H6cREPQAw1Pat601i TndtEEnWzL2bSPOmG1 4Kk B9eiSISACLYT-
NarA-2n9H-tGgt-SxQ39iDejges” -i -d “{ \“roomId\”:
\"¥2geK535JELknosrCTSwQSZGLI9pHgiuScBTDENVU s 8Xx4WDRLI PORCEKX YANM3OMKILOZSPOGE \ 7
¢, \'text\”: \"test2\” }” _.xX POST https:Hapi.ciscopark.cmfvlfmssagesh

L

EFTR/1.1200 O

via: 1.1 linkexd

Transfer-Encoding: chunked

TrackingID: ROUTER 5EOFE283-63EB-01BB-00ED-806BF1BD00ED

Date: Sat, 01 Jan 2020 00:55:31 GMT

Server: Redacted

Content-Type: application/json;charset=UTF-8

Vary: Accept-Encoding

Strict-Transport-Security: max-age=63072000; includedSybDomains; preload

{ “id": i

YCpJf3aVovyBY¥chbn7lsdesNkRegNStl1Exde6denPL14Va0sNEChoMGE1 70 tHEQLoIPuoJ7 3uuJdoX
g9 “,"roomId”:"

Y2geK53sjELknosrCTSwQSZGLI9pHgiuScBTDENVUs r8Xx4WDKLL PORCEKXyANMIQOMK I 9LOZsPOG4
" - M mmﬂ : "g‘rn‘Ian‘ . Htext” H "tast‘zﬂ' . Hp,ers nnIdﬂ H ()

YegYzLeXgtyfWe 1 XMwgfHf Twhi j23KugWt4kLWkbb3 IWEJB1VMZOk1lvyDdFoppbleinNjl11FcMyy5
wD” , "persconEmail” : "useriwebex.com” , "created”:"2020-01-01T00:55:32.4922"}

bash-3.28%

Drag and drop the descriptors from the left onto the correct parts of the API request and response on the right.

Response Headers A
HTTP Request B
HTTP Response C
Request Payload D
Request Headers E
Response Payload F
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A. Mastered
B. Not Mastered

Answer: A

Explanation:
A-E,B-D,C-B,D-C,E-AF-F

NEW QUESTION 258

- (Exam Topic 1)

Fill in the blanks to complete the python script to request a service ticket using the APIC-EM rest API for the
user “devnetuser”.

iImport requests
Import json
controller = ‘devneta "

iro le =lEap Cisco o
url hitps /7™ + controller +

ThREAt a SeIce hoket using the APIC.EM RES

om'sandba Xiamc em'

“fapwvanicket”

payload = { ‘usemame’ ° '
header = {[rr:‘ t . [_ —— — J ‘password” "371274730°)

- -ontent-type apphcaton/son’ ) - ‘
Tes SE =

ponse post{url, data=json dumps{paykoad)

headers— | - ) verty=F alse)
I_jSOon — response jsoni)
prnt(r_json)
tickel = r_son| “response”|["service Ticket")

pnnt{bcket)

A. Mastered
B. Not Mastered

Answer: A

Explanation:
mport requests
umport json
controller = "devnetapgs asco com'sandbox/apsc em'’
url = “https /7™ + controller + “/api/vaticket” a
payload = | ‘'usermame’ Eewre-_tuse:
header = [ "Content-type’ "apphcation/json’ )

———m— = = rpg = orma w

|, ‘password” 3713876577

response = keqmstﬁr Im-sl{uil data=json dumps{payload), \
headers= header| | . venfy=False)

r_json = redponse json()

pont(r_json)

ticket = r_json["response”|["service Ticket™)

pont{bcket)

Reference: https://developer.cisco.com/docs/apic-em/#!hello-world

NEW QUESTION 260
- (Exam Topic 1)
Refer to the exhibit.

leaf IPPeer |
type union { | o}
type inet:ipvé-address;

type i@ﬁtiipti--ddrnllfﬁ

What is the value of the node defined by this YANG structure?
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-.
il

*10.1.1.1°

e

er": *10.1.1.1 2001:db=-1"

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

Explanation:
https://tools.ietf.org/html/rfc7950#section-9.12

NEW QUESTION 263
- (Exam Topic 1)
Which is an advantage of using network programmability?

A. It removes CLI access for devices.

B. It provides for more scalable and replicable network provisioning.
C. Manual configuration is faster.

D. No cloud abstraction occurs.

Answer: B

NEW QUESTION 265

- (Exam Topic 1)

Package updates from a local server fail to download. However, the same updates work when a much slower external repository is used. Way are local updates
failing?

A. The update utility is trying to use a proxy to access the internal resource.

B. The Internet connection is too slow.

C. The Internet is down at the moment, which causes the local server to not be able to respond.
D. The server is running out of disk space.

Answer: A

NEW QUESTION 269
- (Exam Topic 1)
Refer to the exhibit.
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def get_result()
url ="https://sandboxdnac.cisco.com/dna/system/api/vl/auth/token”
resp = requests.post(url, auth=HTTPBasicAuth(DNAC_USER, DNAC_PASSWORD))
result = resp.json()['Token’]

return result

What does the python function do?

A. It returns DNAC user and password.

B. It returns HTTP Basic Authentication.

C. It returns an authorization token.

D. It reads a token from a local JSON file and posts the token to the DNAC URL.

Answer: C

NEW QUESTION 271

- (Exam Topic 1)

A company has written a script that creates a log bundle from the Cisco DNA Center every day. The script runs without error and the bundles are produced.
However, when the script is run during business hours, report poor voice quality of phones calls. What explains this behavior?

A. The application is running in the Voice VLAN and causes delays and jitter in the subnet.

B. The speed and duplex settings in Cisco DNA Center are sot incorrectly, which causes the transfer to be too slow.

C. 9 The script is written in a low-level programming language where there is no memory safet

D. This causes a buffer overflow and disruption on the network.

E. Generating the logs causes the CPU on the network controller to spike, which causes delays m forwarding the voice IP packets.

Answer: D

NEW QUESTION 272
- (Exam Topic 3)
What is a characteristic of the Cisco Finesse platform?

A. Applications allow services to be invoked on a network triggered event.

B. The platform provides a ready-to-go platform for HD video and audio conferencing.
C. Applications are added to the platform from the desktop remotely.

D. The platform includes an enterprise-class IM engine.

Answer: A

Explanation:

A characteristic of the Cisco Finesse platform is that applications allow services to be invoked on a network triggered event. Cisco Finesse is a next-generation
agent and supervisor desktop designed to provide a rich, browser-based experience for contact center agents and supervisors. It offers a flexible, open
development platform that allows developers to build custom applications and integrations to meet the specific needs of their contact center. One of the key
features of Cisco Finesse is the ability to trigger actions based on events within the contact center network, such as an incoming call or a change in the status of a
customer's account. This allows developers to build applications that can react to real-time events and provide relevant information or services to agents as they
handle customer interactions.

NEW QUESTION 277
- (Exam Topic 3)
When a Cisco 10S XE networking device is configured by using RESTCONF, what is the default data encoding method?

A. application/yaml-data+json
B. application/yang-data+json
C. application/xml-data+json
D. application/json-data+xml

Answer: D

NEW QUESTION 282
- (Exam Topic 3)
Which HTTP method is used by webhooks and notifies a listener about an event change?

A. PUT

B. POST
C. PATCH
D. GET

Answer: B
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NEW QUESTION 284
- (Exam Topic 3)

A developer must test the performance and reliability of an application. After functional and load tests are run, the application crashes due to traffic spikes from
users. Which type of API constraint must be implemented to maintain reliability?

A. rate limiting
B. pagination

C. payload limits
D. filtering

Answer: A

NEW QUESTION 289
- (Exam Topic 3)
What is a capability of Ansible playbooks?

A. They execute scheduled tasks regularly.

B. They define the state for a device configuration.
C. They collect SNMP logs from networking devices.
D. They utilize the target device agent to execute.

Answer: A

NEW QUESTION 290
- (Exam Topic 3)

An engineer must make changes on a network device through the management platform API. The engineer prepares a script to send the request and analyze the
response, check headers, and read the body according to information inside response headers. Drag and drop the HTTP header values from the left onto the

elements of an HTTP response on the right.

1g474

cache-control

no-store, must-revalidate

content-length

timeout=5, max=100

keep-a  Tve

application/json;charset=yTF-8

content-type

A. Mastered
B. Not Mastered

Answer: A

Explanation:

F

: 16974

no-store, must-revalidate

timeout=5, max=100

application/json;charset=UTF-8

application/ison;charset=UTE-8

NEW QUESTION 291
- (Exam Topic 3)

What is a characteristic of Waterfall compared to Agile software development method?

A. Waterfall focuses on continuous improvement, and Agile focuses on the design phase.
B. Waterfall separates the project development lifecycle into sprints, and Agile does not use cycles.

C. Waterfall specifies requirements before development begins, and Agile responds flexibly to changes in requirements.

D. Waterfall uses reviews with step by step approach, and Agile uses a serially phased approach.
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Answer: C

NEW QUESTION 295
- (Exam Topic 3)
What is the meaning of the HTTP status code 2047

A. request completed; new resource created

B. server successfully processed request; no content returned
C. standard response for successful requests

D. invalid query parameters

Answer: B

NEW QUESTION 299
- (Exam Topic 3)
What is a capability of the AXL API?

A. It signs a user in to a phone that is configured for extension mobility.

B. It pulls logs for the Cisco Tomcat service.

C. It authenticates users who exist in Cisco Unified Communications Manager.
D. It provides support for HTTP and HTTPS communications.

Answer: C
NEW QUESTION 302

- (Exam Topic 3)
Refer to the exhibit.

b

Server 1; Server 2:

IP Address: IP Address:
10.10.20.10 10.10.30.10
Netmask: Netmask:
255.255.255.0 255.255.255.0

While developing a Cisco Webex bot, an application reaches the public IP address of the firewall, but traffic is forwarded to the IP address of server 1 instead of
the IP address of server 2. What causes this issue?

A. The proxy server that rewrites traffic is misconfigured.

B. The router is sending the traffic to server 1 instead of server 2.
C. The switch is forwarding IP traffic to the wrong VLAN.

D. NAT is misconfigured on the firewall.

Answer: D

NEW QUESTION 305

- (Exam Topic 3)

A developer is running an application that connects to the Cisco website and collects data. The application will be hosted in a local data center and the data will
need to be collected on a frequent basis. The application client requires certain environmental variables to be set before the run. Which Bash command sets the
environmental variables for a Linux system?

A.

B. export lvar=2 3|

WEBSITE=“¢cisco.com’

export website="cisco.com’

Answer: D
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NEW QUESTION 306
- (Exam Topic 3)
Drag and drop the capabilities from the left onto the Cisco Network Management Platforms that support the capabilities on the right.

receives AL/ML network performance Insights, and uses quided Merak
achieves automation through common policy for data center
operatiors Cisco DNA Center
establishes an overlay fabric to connect data centers, branches, Al
and campuses through vManage
provisions and manages nétworks, networking devices, and ;
dients through a fully managed doud service Csco SD-WAN
supports multtvendor petworks through
Network Element Drivers NSO
A. Mastered
B. Not Mastered
Answer: A
Explanation: _
receives Al/ML network performance Insights, and uses guided | provisions and manages networks, netwiorking devices, and
issue remediation dients through a fully managed doud service

achieves automation through common policy for data center | receives ALML network performance Insights, and uses guided

| establshes an overlay fabric to connect data centers, branches, | | achieves automation through common policy for data center |
| and campuses through vManage | operations I

| provisions and manages networks, networking devices, and | | establihes an overlay fabric to connect data centers, branches,

| dients through a fully managed doud service | and campuses through vManage
| Supparts multivendor networis through | Il | snw:m'mtimm nﬂm‘xsmfwgr

| Network Element Drivers [ | Network Element Drivers

NEW QUESTION 308

- (Exam Topic 3)

A team of developers is responsible for a network orchestration application in the company. The responsibilities also include:

developing and improving the application in a continuous manner deployment of the application and management of CI/CD frameworks
monitoring the usage and problems and managing the performance improvements Which principle best describes this DevOps practice?

A. responsible for IT operations
B. automation of processes
C. end-to-end responsibility
D. quality assurance checks

Answer: C

NEW QUESTION 311
- (Exam Topic 3)
Drag and drop the code from the bottom onto the box where the code is missing to enable ports on a switch by using RESTCONF. Not all options are used.
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def enable_functionl(if_name, if_status, if_type):
headers = {"Accept’: "application/yang-data+json’,

'Content-Type': ‘application/

payload = {

w8
-

"name®: 1f name,
"enabled": if status,
"type®: if_type,

]

1= "hetpe://192.168.1.1:8443"
resctcenf url = ‘/restcenf/data/ietf-interfaces:interfaces/interface’

res = requests.put (f’'{base_url}{restconf]l={if_name}',
headera=headerasa, json=payload,

auth=("cisco’, ‘'secret'), verify=Falase)

')

enable_function( ‘Loopbackl, true, ° o |
yang-data+json application/xml
ietf-interfaces:interiace iana-if-type:solftwareloopback
base_url run_function
fana-if-type:ethernetiamacd

A. Mastered
B. Not Mastered

Answer: A

Explanation:

def enable_function(if_name, L1f_status, if_type):
headers = |['Accept': "application/yang-data+jsen’,

'"Content-Type': "application/ l
paylecad = {

- ietf-nterfaces:;interiace (P {

"name™: if name,
"enabled": if_satatus,
"eype™: 1f_type,
|

}

| base_url 1= "hetpe://192.168.1.1:8443°

res = requests.put(f’{base_url){restconf]={if_name}"',
headers=headers, json=payload,

restconf_url = “/restconf/data/ietf-interfaces:interfaces/intecface’

auth=("cisce"', "'secret'), wverify=Falae)

enable function('‘Loocpbackl, true, "1 iana-f-type:ethernatismacd | *)

yaag-data+json application/xml
I letr‘;gzérraces?inte::ace _1ana—if—type:softwareLaepback
base_url run_function
flana-ilf-type:ethernetCsmacd

NEW QUESTION 312
- (Exam Topic 3)
Drag and drop the API characteristics from the left onto the categories on the right.
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The APl is seen as a function call. REST
There is communication between server and client.
it follows a resource-oriented model.
RPC
The API can be stateless.

A. Mastered
B. Not Mastered

Answer: A

Explanation:
Graphical user interface, application Description automatically generated

NEW QUESTION 317

- (Exam Topic 3)

A business needs to create a simulated environment that mimics a production infrastructure to make changes to the OSPF process and analyze the impact. What
should be used?

A. Cisco VIRL / Cisco CML

B. Cisco DevNet Sandbox labs
C. pyATS

D. Puppet

Answer: A

Explanation:
https://www.cisco.com/c/en/us/products/cloud-systems-management/modeling-labs/index.html

NEW QUESTION 321
- (Exam Topic 3)
What is a procedural component of CI/CD pipelines?

A. Bundled artifacts must be generated.

B. Every test must pass for the pipeline to continue its execution.
C. Some tests fall without stopping the pipeline execution.

D. The release label that identifies the build is optional.

Answer: B

Explanation:

In a CI/CD (Continuous Integration/Continuous Deployment) pipeline, a procedural component is a specific step or action that is carried out in a specific order as
part of the pipeline process. One of the procedural components of a CI/CD pipeline is that every test must pass in order for the pipeline to continue its execution. If
any test fails, the pipeline will stop and the issue must be addressed before the pipeline can continue. This is an important procedural component of a CI/CD
pipeline because it ensures that the code being deployed is of high quality and meets the necessary standards before it is released.

NEW QUESTION 323
- (Exam Topic 3)
Drag and drop the code from the bottom onto the box where the code is missing to complete the error path scenario. Not all options are used.
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import pytest
class Player:
def __init__(self, name):
self.name = name

def set_rating(self, zatingl:
if rating or rating is int{0):
raise valueError( ' rating is invalid', rating)
else:

TeEtUrn L-ue
alse:

rerurn Palse
Bpytest.fixture

def player():
player = Player('Usez One’)
yield player
del player
Bpytest.mark.usefixtures('player”)
class TestErrorPathSetRating:
def test_add higher rating(self, player):
with pytest.raizsea(ValueErrer):
player.set_rating(l01l)
def_teat_add_invalid_rating(s=1lf, player):
with pyteat.raisesa(ValueError):

def_test_add_lcwer rating(self, playez):
with pytest.raises(ValueBrror):
player.set_rating(-1)

| player.set rating(D) || if rating != 0: J
| plaver.za1t rating{2s) | | rabtitg o rating is intd{d) :]
if rating < 1 or rat‘ng > 100z [ gelf.mating = rating ]
celi.zxating = Monc
A. Mastered
B. Not Mastered
Answer: A
Explanation:
import pytest
class Player:
def __inic__ _(melf, namea):
" =
self.zating = None ]
def set_rating(self, rating):
Af zating or rating is int(0):
it rating < & or vating > IHU:I:
raise ValueError( zating is invalid', rating)

LR oo e e s e e s

return lTrue
elne:

return Falass=
Bpytest.fixture

def player():
player = Player(“User One')
yield player
del playez
fpyteat . mark.usefixtures|"player”)
class TestErrcrPathSetRating:
def_test_add_higher_ rating(self, player):
with pytest.raises|(ValueError):
player.set_cating(l101)
def_teat_add_invalid _rating(self, player):
with pytest.raises(ValueError):
player.set_rating(0)
def_test_add_Jlcwer_rating(self, player}):
with pytest.raises(ValueError):
player.set_rating(-1)

| | if rating != 0O: 1

seli.zating = Nope

NEW QUESTION 325
- (Exam Topic 3)
Which network constraint causes the performance of the application to decrease as the number of users accessing the application increases?

A. latency
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B. loss
C. bandwidth
D. jitter

Answer: C

NEW QUESTION 328
- (Exam Topic 3)

param{: Workflowl
paraml:
lisz:
- name: VLAN ID
value: '198°
paraml: (

Refer to the exhibit. The YAML shown contains an object "param0" that is equal to "Workflow1", a second object "param1" that contains an object called "list"
which contains an array of two objects, "name" (equal to "VLAN_ID") and "value" (equal to a text value "198"), and finally a third object "param2" that is equal to
"0". What is the equivalent message in JSON data format?

Al
"param{0"="Workflowl";
“"paraml®=
“liat"=
["name”="VLAN ID";
“"value®"="198"]
"param2"=0

]

"param(":"Workflowl";
"paraml®: |
"iisc™:
("name™:"VLAN ID";
“value™:"198")

Y.

"paraml®

C.[
“param0”:"Workflowl"™,
"paraml®: [
-li-!-.:-":

e = - = B

["name"” : “VLAN ID".
"value™:"198")

S

1,
"paramZ™:(
]

D. [

"param{":"Norkflewl"”,
"paraml™: |
*liasc®

|

&8

| "name"” : “VLAN_ID",
"value™:"198"}

}e

“"param2":0

}
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Answer: D

NEW QUESTION 332
- (Exam Topic 3)

HTTPS/1.1 201 Created

Date: Tue, 08 Nov 2020 09:37:27 GMT

Server: example-server

Location: https://example.com/restconf/data)

s:
exampl

Last Modified: Tue 08 Nowv 2020 09:37:27 GMT
ETag: "slB78l24t4c

e-jukebox/library/dogbreed=Australiant

-
-

OCattle®l0Dog

Refer to the exhibit. Which RESTCONF request results in this response?

GET /restconf/data/example-jukerox:jukebox/_iorary HTTP/1.1
Host: examp_e.Zom
Content-Type: app_-_cat_on/vang-data-json
“"Examp_ e-jukepox:dogoresd”
“nams" Zustral-an Catt_e Dog
B. = F Fras gk
CORKFIG /restconf/data/examo_e-jukepox:jukepox/__brary HTTP/1.1
Host: sexample.com
Content-Type: aprlication/vang-data-json
"Examp_e-Jjukebox:dogbresed”
"nam=" : "Australzan Cattle Dog
C. ; 2 . ; . . VR TN
PUT /restconf/data/example-jukebox:jukebox/library HTTPR/1.1
Host: examo_e.oom
Content-Tyre: apw_ication/vang-aata-json
“Examp_e-Jjukepox:dogbresa”
"name”  TAustralian Catt_e Dog
D. = c ; . , =
POST /restconf/data/example-jukebox:jukebox/library HTTE/1.1
Host: example.com
Content-Type: application/vang-data-+jscon
“"Example:cogbreea”
“name” : “Australian Cattle Dog
b
T
4
J'.
Answer: D
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NEW QUESTION 336
- (Exam Topic 3)

A developer creates a program in which an object maintains a list of classes based on the observer pattern. The classes are dependent on the object. Whenever
the state of the object changes, it notifies the dependent classes directly through callbacks. Which advantage of the observer pattern offers minimum

dependencies and maximum flexibility between dependent objects or classes?

A. tight coupling
B. cohesion

C. mediation

D. loose coupling

Answer: D

NEW QUESTION 341
- (Exam Topic 3)

CISCO SECURITY APIS

Introduction

APl Workflow
GET 1.) Find all events where Mahvar...
GET 2.) Find Endpoint Details for Rem...
puT  3.) Nuke the Endpoint 1o Prevent...
GET &) Find samples in Threat Grid
GiT 5.) Get all sample domains 1o an...
6.) Check all domains against Inv...
GET 7.) For suspect domains get mor...
8.) Enforce on bad Domains in U...
GiT 9.) Research other Ransomware ...
Generate Authentication Token ..

10.) Add custom intelligence Fee...

NGFW

Generate Authentication Token
GET Access Policies
GET Access Rules
GET Access Rule Details

New Access Rule in Policy

Mew Bulk Access Rule in Policw
Refer to the exhibit. Drag and drop the
Not all options are used.

Cisco Security APlIs

The main goal of this collection to help the developer understand the various APl capabilities of Cisco N
Malware Protection, Threat Grid. . ISE and Umbrella. It will cover useful API features for each of the prod
properly use them. Simple workflow is also included in the collection to Collect all the characteristics/sigy
the possible attack using AMP. Validate the collected intelligence with Threat Grid and Umbrella. Deploy
to the NGFW, Umbrella and ISE to protect and contain the threat.

APl Workflow

GET 1.) Find all events where Malware Executed

htps:/@amp.ddoud.cisco.comivl fevents?eonnector_guid[]=&event_type[]=1107296272

Get a listing of all the events for a specific computer when the quarantine failed

PARAMS

code from the bottom onto the box where the code is missing to construct a Python script that calls a REST API request.

import reguesats

payload = {

"delivezy®™: "url®,

"refresh™: 1440,
"yeraicon™: "1.0.0%,
"params™: |

II
"property™: {
"cEl"™: B0,
"publish®™: true,
"action®™: "monitor”®
|
|
headezs = |

= "https://fmc-hostname/api/fmc tid/vl/domain//tid/scurce®

"name”: "Threat Grid Ransomware DNI",

"uri®: *https://panacea.threatgrid.com/api/v3/feeda™+
"/fransomware-dns 2017-12-0B.atix?api_key=",

"selfSignedServerCertificate™; “"true®,
"hostnameVerifier®: "allow_all®™

'X-auth-access-token’: 'accesa_token', ' | 's "application/jseon’
]
response = regquests. | | (*POST", wurl,

headera<headers, data =| l ]
printiresponse.text.encode ("utfB'))

ot H Lacoding | base_uzl | soatent - Type post
request | payload |
A. Mastered

B. Not Mastered
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Answer: A

Explanation:

import requests

e e o

payload = |

"carams™: |

]I’
"property”: {
"cel™: 90,

headers=headers,

"hrepa://fac-hostname/ap:/fac_tid/vl/domain//tid/mource™

“name®: "Threat Grid Ransomwars DNS®,

"delivery™: "url®;

"uri®: 'httpu:ffpunncen.thre-tgr;d.cgwfuplfvjffeedn'+
"/ranscmware-dna 2017-12-08.atixYapi_key=",
"refresh™: 1440,

%yeraton®: *1.0.0%,

"selfSignedServerCertificate™: "true®™,
"hestoameVerifier®: "allow_all

"publish®: true,

"action®: "monitor™
]
}
headezs = |
*X-auth-acceas-token': ‘access_token®, ° [ff:t?nf y;;eF ': 'application/json’
v e—
I oLt
reIponse T regqueats. W (*POST®, url,

(RN}

data = base uvl l i

print (response.text.encode{"usf8*))

NEW QUESTION 344
- (Exam Topic 3)

Which solution reduces costs from MPLS, improves application performance, and simplifies operations?

A. Cisco NSO

B. Cisco SD-WAN

C. Cisco ACI

D. Cisco DNA Center

Answer: B

NEW QUESTION 348
- (Exam Topic 3)

Drag and drop the characteristics from the left onto the corresponding categories on the right to compare RESTful and RPC APIs.

Answer Area
sassion-based
must use HTTP RPC
sometimes uses HTTP
A. Mastered

B. Not Mastered
Answer: A

Explanation:
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| stateless |
1 - : stateless
sazcion-based
e e < = g . el el - = j sometimes uses HTTP
must use HTTP oPC
sesslon-based
sometimes uses HTTP
|
must use HTTP :

NEW QUESTION 349
- (Exam Topic 3)
Refer to the exhibit.

Hypervisor

Application Server

SRSRR

Database

SR

An application must be deployed on a server that has other applications installed. The server resources are to be allocated based on the deployment requirements.
The OS for each application must be independent. Which type of deployment is used?

A. hybrid

B. virtual machines
C. containers

D. bare metal

Answer: B

NEW QUESTION 352

- (Exam Topic 3)

A developer attempts to refactor and improve the application code. It is noticed that the code contains several pieces of key information that could be a security
threat if this code is accessible by those who are not authorized to this data. Which approach addresses the security concerns noticed by the developer?

A. Host the application code on a machine located in a secure data center.

B. Utilize environment variables for username and password detalils.

C. Rely on the security teams’ goodwill to not give access to those who do not need it.
D. Move the hardware that the application is deployed on to a secure location.

Answer: B

NEW QUESTION 356

- (Exam Topic 3)

A development team is creating an application used for contactless payments. The application must: Be web-based Capture and process the credit card
information for a purchase.

Which security action must the web application use to gather and process the private customer data?

A. Enable RATSs to monitor the web application remotely.
B. Disable botnets to eliminate risks.

C. Disable TLS to increase the connection speed.

D. Enable the encryption of network traffic.
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Answer: D

NEW QUESTION 361
- (Exam Topic 3)
Refer to the exhibit.

module ietf-interface |
namespace "urn:ietf:params:xml:ns:yang:ietf-interfaces";
prefix if;
import ietf-yang-types {
prefix yang;
}
container interfaces-state |
list interface |
key "name";
leaf name |
type string:
}
leaf admin-status {
type enumeration |
enum up {
value 1;
}
enum down |
value 2;
}
enum testing {
value 3;
}
}
}
leaf if-index |
type int32 {
range "l..2147483647"
}
}
container statistics |
leaf in-octets |
type vang:counteréd;
}
leaf in-unicast-pkts |
type vang:countercd;
I

}

Which XML snippet has interface information that conforms to the YANG model?

A. Text Description automatically generatedB.| «{ nterfaces—-state
xmlns="urn:letf:params:xml:ns:yang:letf-interfaces”
¥xmlns:1f="urn:ietf:params:xml:ns:yang:1letf-interfaces">
<interface name="GigabitEthernetl">
<admin-status>l</admin-status>
<if-index>1</if-index>
<statistics>
<in-octets>4081€4820</1n-octets>
<in-unicast-pkts>7280€6l</in-unicast-pkts>
</statistics>
</interface>
</interfaces-state>

Text
Description automatically generated
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<interfaces-state
xmlns="urn:ietf:iparams:xml:ns:yang:ietf-interfaces”
xmlns:if="urn:ietf:params:xml:ns:yang:ietf-interfaces">

</interfaces-state>

<interface>
<name>GigabitEthernetl</name>
<admin-status>up</admin-status>
<if-index>1</if-index>
<in-octets>408164820</in-octets>
<in-unicast-pkts>72806l</in-unicast-pkts>
</interface>

B. Text Description automatically generated

C. Text Description automatically generated

Answer: C

Explanation:

<interfaces-state
xmlns="urn:ietf:params:xml:ns:yang:ietf-interfaces”
xmlns:if="urn:ietf:params:xml:ns:yang:ietf-interfaces">
<interface>
<name>GigabitEthernetl</name>
<admin-status>up</admin-status>
<if-index>l</if-index>
<statistics>
<in-octets>408164820</in-octets>
<in-unicast-pkts>72806€l</in-unicast-pkts>
</statistics>
</interface>
</interfaces-state>

<interfaces-state
xmlns="urn:letf:params:xml:ns:yang:ietf-interfaces”
xmlns:if="urn:letf:params:xml:ns:yang:letf-interfaces">
<lnterface>
<name>GiligabitEthernetl</name>
<admin-status>l</admin-status>>
<if-index>1</if-index>
<statistics>
<ln-octets>4081€4820</in-octets>
<in-unicast-pkts>7280€l</in-unicast-pkts>
</statistics>
</interface>
</interfaces-state>

https://datatracker.ietf.org/doc/id/draft-ietf-netmod-interfaces-cfg-01.txt <admin-status>up</admin-status>

NEW QUESTION 366
- (Exam Topic 3)

import reguests

user= "yser®
pasawocrd= "PASSWORD"

from requests.auth impert HTIPBasichuth

token“requests.post ("httpa://<DNAC ADRESS>/dna/system/api/v1/auth/tcken’,

Refer to the exhibit. A developer must use a token to collect data from Cisco DNA Center API and prepares a Python script to send requests. Which line of code

needs to be placed on the snippet where the code is missing to obtain a token from the Cisco DNA Center API?

A. token=BasicAuth(‘user’,'password"))

B. auth=BasicAuth(‘user’,'password’))

C. auth=HTTPBasicAuth(user,password))
D. token=HTTPBasicAuth(user,password))
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Answer: C

NEW QUESTION 371
- (Exam Topic 2)
Refer to the exhibit.

import regqueats

5

FLED |

BLL1T

A network engineer wants to use an API to update information about device interfaces. The network devices are deployed in a Cisco DevNet Sandbox and have

running interfaces. Which line of code needs to be placed in the snippet where the code is missing?

A. {'Content-Type'": 'application/yang.data+xml', 'Accept’: 'application/yang.data+xml'}

B. {{Content-Type'": 'application/yang.data+yaml’, 'Accept’: 'application/yang.data+yaml’}

C. {'Content-Type': 'application/restconf.data+json’, 'Accept': 'application/ restconf.data+json'}
D. {'Content-Type": 'application/yang.data+utf8', 'Accept': 'application/ restconf.data+utf8'}

Answer: C

NEW QUESTION 373
- (Exam Topic 2)
In test-driven development, what are two of the green bar patterns? (Choose two.)

A. another test
B. break

C. triangulate
D. starter test
E. fake it

Answer: CE
Explanation:

https://blog.baudson.de/blog/test-driven-development-green-bar-patterns

NEW QUESTION 375
- (Exam Topic 3)

Drag and drop the code from the bottom onto the box where the code is missing to construct a Python script that calls a REST API request. The Python script
retrieves a list of tasks from a to-do list for effective project management purposes. Not all options are used.

import requests

response =

if .status_code !'= 200:

for item in response.json|():

.get (‘https://todolist.example.com/tasks/"')

raise ApiError('GET /tasks/ {]}'.format (response.

print(’'{} {(]}'.format(item(['1d'],

) )

['summary’']))

i tem response
regquests get ()
status nade Atatis

A. Mastered
B. Not Mastered

Answer: A

Explanation:

Passing Certification Exams Made Easy

visit - https://www.surepassexam.com



\-/ Exam Recommend!! Get the Full 200-901 dumps in VCE and PDF From SurePassExam
LI Sure PaSS https://www.surepassexam.com/200-901-exam-dumps.html (406 New Questions)

import reguests

response = requests .get('https://todolist.example.com/tasks/")
if CeSpOnae .status code !'= 200:
raise ApiError('GET /tasks/ {]'.format(response. [sratp= nu1i] ))

for item in response.json|():

print('{} {(}'.format(item['1d"'], item ['summazy']))
Sl '] -.F___________.-

: i tem | response

[ |

| Iequests : et ()

status rade { atatus

NEW QUESTION 379
- (Exam Topic 3)

m /necwark-device/count

m /network=device

m fnetwork-device/

Refer to the exhibit. Drag and drop the code from the bottom onto the box where the code is missing to construct a request that generates a security token and
gets a list of network devices. Not all options are used.

Passing Certification Exams Made Easy visit - https://www.surepassexam.com



\i/ Exam Recommend!! Get the Full 200-901 dumps in VCE and PDF From SurePassExam
Ll Sure PaSS https://www.surepassexam.com/200-901-exam-dumps.html (406 New Questions)

import jseon, requests, urllip3
from requests.auth impert HTTPBasichuth
from config import host, username, password
headers = { 'content-type': "application/jyson", 'x-auth-token': "" }
def dna_api_authl{host, username, password):
url = "https://{)/api/system/vl/auth/token”.format (host)
response = .poat(url, auth=HTTFBasicAuth (username, password),
headers=headers, verify=False)
return response.jscn() [*"Tocken"]
def list_dna_devices(taken):
url = "hetps://{}/api/vil/network-device”. . format (hoat)
headers["x—-auth-token™] = token
response = requests.get (url, headers~headers, verify=False)
data = «json{)
for item in data[’response’]:
praint(item|[“hostname®])
token = (host, username, password)
(token)
response Teply dna_api_auth requests
json list _dna devices lislt devices
A. Mastered
B. Not Mastered
Answer: A
Explanation:
import json, requests, urllib3
froem requests.auth impert HTTPBasiclhuth
from config import hcost, username, password
headers = { 'content-type': "application/jyson", 'x-auth-token': "" }
def dna_api_auth(host, username, password):
url = "hetps://{)/api/system/vl/auth/token”.format (host)
responae = requests .poatiurl, auth=HTTFBasicAuth (username, pasaword),
headers=headers, verify=False)
return response.json() ["Token"]
def liat dna_devicesa{token):
url = "hetps://{}/api/v]l/network-device”.format (hoat)
headers|["x—auth-token"™] = token
response = requests.get(url, headers=headers, verify=False)
data = Iegponss | .json()
for item in data[‘'response’]:
prant (item|“hostname®])
token = dna_api_auth (host, username, password)
[ilut_dnu_ic?i;u: (token)
ISSponse - "._1-__; o dna_apl_auth [ requests !
e -]—L‘-.’.—.‘ll_ i _I list _dna devices [ list devices

NEW QUESTION 384
- (Exam Topic 3)
Which IP service is used to monitor the performance of network devices?

A. SNMP

B. DHCP
C.DNS
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D. NTP

Answer: A

NEW QUESTION 388
- (Exam Topic 3)

[
La]]
¥
w

API USER NAME = "“devnetuser
API PASSWORD = os.environ( *AFI PASSWORD' ]
ragquests.get('hteps://api.cisco.com/end-service’, auth=(API USER NAME,

API PASSWORD))

Refer to the exhibit. An engineer must authorize a REST API call. The API password is "Cisco123!". Which Bash command must be placed in the code to authorize

the call?

A. mkdir API_PASSWORD=Cisco0123!
B. set API_PASSWORD=Cisc0123!

C. cp API_PASSWORD=Cisc0123!

D. export API_PASSWORD=Cisco123!

Answer: D

NEW QUESTION 389
- (Exam Topic 3)
Which Cisco platform is used to manage data center infrastructure through third-party tools and system integrations?

A. Cisco DNA Center
B. Cisco UCS Manager
C. Cisco Intersight

D. Cisco UCS Director

Answer: D

NEW QUESTION 392
- (Exam Topic 3)

Which two commands download and execute an Apache web server container in Docker with a port binding 8080 in the container to 80 on the host? (Choose two.)

A. docker pull apache

B. docker run -p 8080:80 httpd
C. docker run -p 80:8080 httpd
D. docker pull httpd

E. docker pull https

Answer: CD

NEW QUESTION 394
- (Exam Topic 3)
Which function does a router provide to a network?

A. broadcast domain segmentation

B. unigue host on a Layer 3 network

C. unique hardware address for every node on a LAN
D. broadcast domain extension

Answer: B

NEW QUESTION 395
- (Exam Topic 3)

A developer completed the creation of a script using Git. Before delivering it to the customer, the developer wants to be sure about all untracked files, without

losing any information. Which command gathers this information?
A. git clean —n

B. git rm —f

C. git clean —r

D. gitrm*

Answer: A

NEW QUESTION 397
- (Exam Topic 3)
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What is a benefit of version control?

A. prevents two users from working on the same file
B. keeps track of all changes to the files

C. prevents the sharing of files

D. keeps the list of data types used in the files

Answer: B

NEW QUESTION 399
- (Exam Topic 3)
Which Python function is used to parse a string that contains JSON data into a Python dictionary?

A. json.dumps()
B. json.to_json()
C. json.parse()
D. json.loads()

Answer: D
Explanation:

loads() function is present in python built-in 'json’ module. This function is used to parse the JSON string.

NEW QUESTION 403
- (Exam Topic 3)
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Refer to the exhibit. An engineer prepares a script to automate workflow by using Cisco DNA Center APIs to display:
total count of devices

list of the network devices

information of one device with a hostname filter

What is displayed in the final step after the Python script is executed?

A. information about a device of type C9500-40x.

B. filtered results by the hostname and the platformld C9500-40X
C. information about the test devices

D. list of devices with platformld C9500-40x

Answer: B

NEW QUESTION 404
- (Exam Topic 3)
Which two situations align with infrastructure as code principles? (Choose two.)

. honreplicable snowflake servers

. release versions to specific hardware
. maximized configuration drift

. easily reproducible systems

. repeatable processes

mooOw>
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Answer: BD

NEW QUESTION 406
- (Exam Topic 3)
A company wants to automate the orders processed on its website using API. The network device that supports the solution must:

> support XML encoding
> support distributed transactions
> support YANG data models

> be support software redundancy
Which requirement prevents the use of RESTCONF for the solution?

A. software redundancy
B. YANG data models

C. distributed transactions
D. XML encoding

Answer: C

NEW QUESTION 409
- (Exam Topic 3)
What is a feature of XML compared to other data formats?

A. It uses tags to define the structure.

B. It uses parenthesis for key-value pairs.

C. It uses indentation to define the structure.
D. It uses namespaces for list representation.

Answer: A

NEW QUESTION 412

- (Exam Topic 3)

An engineer must configure Cisco Nexus devices and wants to automate this workflow. The engineer will use an Ansible playbook to configure devices through
Cisco NX REST API. Before the code is run, which resource must be used to verify that the REST API requests work as expected?

A. Cisco Open NX-0OS

B. Cisco NX-OS SDK

C. Cisco Learning Labs

D. Cisco Code Exchange for Nexus

Answer: C

NEW QUESTION 417
- (Exam Topic 3)
What is a benefit of using model-driven programmability for infrastructure automation?

A. connected user tracking

B. infrastructure resource optimization
C. multiple device control protocols

D. device performance monitoring

Answer: C

NEW QUESTION 420
- (Exam Topic 3)
Which two details are captured from the subnet mask? (Choose two.)

A. portion of an IP address that refers to the subnet
B. default gateway of the host

C. unigue number ID assigned to the host

D. part of an IP address that refers to the host

E. network connection of a host or interface

Answer: AD

NEW QUESTION 424

- (Exam Topic 3)

A developer creates an application that must provide an encrypted connection or API keys. The keys will be used to communicate with a REST API. Which
command must be used for the secure connection?

A. curl-X PUSH *http://username.app.com/endpoint/?api_key=12345abcdef’
B. curl —v ‘ftp://lusername.app.com/endpoint/?api_key=12345abcdef’

C. curl =X GET ‘https://username.app.com/endpoint/?api_key=12345abcdef’
D. curl-X GET *http://lusername.app.com/endpoint/?api_key=12345abcdef’

Answer: C
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NEW QUESTION 429

- (Exam Topic 3)

An engineer needs to collect information about 20,000 Bluetooth clients using the Cisco Meraki API. The API returns only 1,000 results. One of the HTTP response
headers has the data:

Link: https://api.meraki.com.info/api/vO/networks/ABC/bluetoothClients?perPage=1000&startingAfter=1000>;rel="n

Which RFC is implemented by the API to apply the restriction?

A. RFC 5988 — Web Linking

B. RFC 5890 — Response Constraints

C. RFC 5005 - Feed Paging and Archiving
D. RFC 5446 — Content Limits

Answer: C

NEW QUESTION 431

- (Exam Topic 3)

A developer writes an application that refines data in temporary secure file storage hosted on the public cloud. Data will be deleted after processing and does not
contain any private information. What is the advantage that a public cloud deployment provides to the developer?

A. high security with encryption

B. ease in infrastructure management
C. flexible development

D. bespoke services

Answer: B

NEW QUESTION 436
- (Exam Topic 3)
Why would a developer compare a current version of code to a previous version?

A. to provide the single source of truth
B. to troubleshoot code failures

C. to track who made a change

D. to aid in collaboration

Answer: B

NEW QUESTION 440

- (Exam Topic 3)

An engineer prepares a set of Python scripts to interact with network devices. To avoid network performance issues, the engineer wants to run them in a test
environment. Which resource must be used to monitor the live execution of code in an always-available environment?

A. packet tracer
B. learning labs
C. sandbox

D. code exchange

Answer: C

NEW QUESTION 442
- (Exam Topic 3)
What is a principle of a code review process?

A. Changes are made after the code is submitted to source control.

B. It must not prevent code from getting into production as quickly as possible.
C. Naming standards must be consistent.

D. A technical lead must sign off on the review.

Answer: D
NEW QUESTION 445
- (Exam Topic 3)

Refer to the exhibit. Drag and drop the code snippets from the bottom onto the blanks in the Python script to retrieve a list of network devices from Cisco DNA
Center. Not all options are used.
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import regquests
import json
from urllib3.exceprtions import InsacuraBRacuastWarning

regquests.packages.urllib3.disable warnings ()

"My DNA Center URL"™
{("dnacenteruser”, “dnacenter password”)

dna_center_url
authenticatian

daf get token ():
url = “https:// “dna_center_ url+"/dna/lsystem/api/vl/auth/token”™
response = reguests.post{url, auth=authentication, wverify=False)
token = response.json() [ *Token’]
return token

def get_device_list():

token =[ I
url = “https:// “+dna_center url+t “dnafintentfapiHVEfl i
headsr = {| i: token,; ‘content-type’ : ‘application/json’)

response = reguests.get{url, headers=header)

device list =| |

print {(json.dumps (device list, indent=4)}

if name == ™ main ":

gat dewvice list()

I get_token() ] Lpenwark—devic%J L_x-auth-tcka;_J Lresponse,jsan{u

| response.xml | | Authorization

A. Mastered
B. Not Mastered

Answer: A

Explanation:

import regquests
import. json
from urllib3.exceptions import InsecureRecquastWarning

requests.packages.urllib3.disable_warnings()

dna_center_url "My DMAR_Center URL"™
authenticatien = (“dnacenteruser", “dnacenter password")

daef get token ():
url = “https:// “dna_center_url+"/dna/system/api/vl/zuth/token”
responsa = reguests.post (url, auth=authentication, wverify=False)
token = response.jsonl) [ ‘Token’]
raturn token

def get device list():

token =) _ getr_token()

url = “https:// “+dna_center_url+ “dna/intent/api/vl/] network-device

— o m

device_list =|response.json()|

print (json.dumps (device_list, indent=4))

L1 o
H

if name == ™ main_
get _device_list ()

header = {| x-auth-token [: token, ‘content-type’ : ‘application/json’}

|__get_token() | [network-device | [ x-auth-token |1respense.j5andﬂ:
L response.xml ?{ Authorization

NEW QUESTION 446
- (Exam Topic 3)
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EE5) /vi/meetings
Body Parameters A

title
strng  Reguered
Meeting title. The title can be a maximum of 128 characters long.
agenda
strng

Meeting agenda. The agenda can be a maximum of 2500 characters long.
password

g
Meeting password. Must conform to the site's password complexity
settings. Read password management for details. If not specified, a random
password conforming to the site's password rules will be generated
automatically.

start

stnng Recueed
Date and time for the start of meeting in any ISO 8601 compliant format.
start cannot be before current date and time or after end. Duration
between start and end cannot be shorter than 10 minutes or longer than
24 hours.

end

string Recured

Date and time for the end of meeting in any ISO 8601 compliant format. end
cannot be before current date and time or before start. Duration between
start and end cannot be shorter than 10 minutes or longer than 24 hours.

Refer to the exhibit. A bespoke meeting booking system must be integrated with Cisco Webex so that

meetings are created automatically. Drag and drop the code from the bottom onto the box where the code is missing to create a sample meeting. Not all options

are used.

import requests, jaon

= "eyJhbGe ... yJbNE'

headera = |
*Authorizaction': f£'Bearsr {token)',
*Content-Type': 'application/json'
}

paylead = |
"ticle"™: "DevHetr Webex Discussicn®,
"password™: “"AGrtgl2id”,
"start®: "2020-11-10T15:00:002",
“"end": "2020-11-10T17:00:002",
"enabledAutoRecordMeeting™: Falae,
"allowAnylUserTocBeCoHoat™: False

}

response = requests.request(” *, £'{BASE_URL)/ !

headers=headers, data=json.dumps|( )

print (response.text.encode('utfg’))

payload PUT token

vl /mesting vi/mearnings POST

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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import regquests, json

token = 'eyJhbGc ...

B e

headers = {
'Authorization': f'Bearer {token)

}

payload = |
"password™: "AGrtglli4",
"start™: "2020-11-10T15:00:002"

"end™: "2020-11-10T17:00:00Z",
"enabledAutoRecordMeeting™: Fal

"allowhAnyUserToBeCcHost™: False

yJbNE *

'Content-Type': 'application/json’

"ticle™: "DevNet Webex Discussion®™,

L

ae,

respongs = requeata.:equeati'i

Pos< =, £'{BASE_URL)/

P

headers=headers, data=json.dumps(
print(response.text.encode('utfg’}))

vi/mesetinags

1)

payioad

vl /mesting |

vi/meetings

NEW QUESTION 447
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